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Part A: Grammar & Vocabulary
Directions: Choose the word or phrase (1), (2), (3), or (4) that best completes each sentence .

Then mark the correct choice on your answer sheet .

p LT | AITTLY/) o | E———— a health check before using the gym for the first time.(iranarze.ir)

1) having 2) to have 3) for having 4) to having

27-The Spanish teacher ............. is near mine helps me with my homework once a week {iranarze.ir}
1)that his house 2) his house 3) whose house 4) who his house
28-If you worked from home, you ........... need to act formally by wearing a suit {iranarze.ir)

1) won't 2) wouldn't 3) didn't 4) don't
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29-"Anita isn't happy with the salary she's getting." "So she ......... the job {iranarze.ir)

1)mustn't accept 2) mustn't have accepted

3) shouldn't accept 4) shouldn't have accepted

30-An electrical fault ............ to have caused the power cut and we are not sure when it will be solved

1)is believed 2) believes 3) has believed 4)would believe

31-Mary wasn't successful in getting the job............ she had all the necessary qualifications {iranarze.ir)

1) nevertheless 2) despite 3) even though 4) otherwise

32 -Peter asked his father how long ............... as a bank clerk when he was younger he had worked, (iraparze.ir)
1)had he worked 2) he had worked 3) did he work 4)he did work

33 -Fortunately, Carlos has a good memory and is able to ............... facts (prepared by iranarze.ir)easily {iranarze.ir )
1) regulate 2) resist 3) retain 4) reform

34-1 have a hard time with my baby boy. He gets.......... when woken up at night . {iranarze.ir}

1)tolerable 2) irritable 3) remarkable 4) dependable

35- The new train station is under ............ and will be completed soon . (iranarze.ir)

1)consumption 2) anticipation 3)construction 4) devastation

36- The old father asked that his property be divided............. between his’sons . (iranarze.ir)

1)arrogantly 2) equally 3) recently 4) obviously

37-These are............... laboratory chemicals that-ean cause death-if.inhaled.“{iranarze.ir)

1)hazardous 2) meticulous 3)-gracious 4) nutritious

38-Thisroomis ........... for women; s0 men are not allowed to enter here (iranarze.ir )

1) gradually 2) exclusively 3) abruptly 4ysubsequently

39- On their way home, theyi............. a young woman sellingsbeautiful flowers . (iranarze.ir)

1) encountered 2) enhangé 3) preserved 4) provised

40- We have a big............ coming intomorrow morning by train so we'll need to have additional staff on hand (iranarze.ir )
1)pavement 2) experiment 3) shipment 4) advertisement

Part B: Reading Comprehension

Directions: Read‘the following'two passages and select the choice (1), (2}, (3), or (4) that best answers each question. Then
mark your answer.on your answersheet .

Passage 1

The most populated country in the world is China. It is the fourth largest in size with only Russia, Canada and the United States
beldis Chin. It is 3.6-million square miles and occupies one-fourteenth the land area of Earth stretching over 3,000 miles east to
west as well as north to south .

China borders many countries. It borders to the north with Mongolia; the northwest with Kazakhstan; the west with Kyrgyzstan
and others; the southwest with Nepal and India; the south with Myanmar, Laos, Vietnam, and others; and to its east is the
China Sea and Taiwan, North and South Korea, and Japan Chinas terrain includes mountains, high plateaus, sandy deserts, and
dense forests.

Its official name is the People's Republic of China and the country is separated into 33 administrative units and not states like
the United Sates. The capital of China is Beijing and it is the economic, cultural, and communications center of the country, with

Shanghai is the center of industry, and the leading commercial and port is {prepared by iranarze.ir)jHong Kong.
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China is home to many landmarks and attractions including the Giant Panda, Chinese alligator, and red panda. The Great Pandas
are deeply loved by the Chinese and are a Natural Treasure. Only 2.000 of the endangered animals are alive in the world. Its
two main rivers are the 3rd and 4th longest in the world: The Yangtze at 3,915 miles and the Yellow at 3,395 miles. In addition,
the tallest mountain in the world, Mount Everest, is located on the border of Nepal and China .
41-According to the passage, which of the following statements is true about China? {iranarze.ir}
1) It stretches over 5,000 miles east to west as well as north to south .
2) It hosts two of the longest rivers in the world.
3) It occupies one-fifteenth the land area of Earth .

)

4) It is separated into 33 states like the United States.

42- What is the second paragraph mainly about? (iranarze.ir)

1) China's neighboring countries 2) China's history
3) China's attractions 4) China's economy
43-According to the passage, China's terrain includes ................ (iranarze.ir)

1) mountains, high plateaus, sandy deserts, and dense forests

2) mountains, high plateaus, sandy deserts, and long rivers

3) high plateaus, sandy deserts, dense forests, and violent volcanogs
4) long rivers, violent volcanoes, rain forests, and high plateaus

44-The passage refers to all of the following as.the"attractions'of-China EXCEPTA..... (iranarze.ir)

1) Chinese alligator 2)ted panda

3) snow leopard 4) the Giant Panda

45- All of the following countriesshave been mentioned'in the passage-EXCEPT ... (iranarze.ir)
1) Myanmar 2) Kyrgyzstan 3)Japan 4) Cambodia
Passage 2

The main purpose that banks have been serving'since their inception is keeping our money safe for us. While keeping our money
safe, they also let us earn a certain amount of interest on the money deposited with them. Traditional banks have been doing
this, and internet banks continue‘the/same_ function. The only difference is in the way the transactions are made.

Online banking has been‘around for quite a few years. In fact, it was introduced in the 1980s and has come a long way since
then. The last decade has seen a profuse growth in internet banking transactions. Several pieces of legislation have also been
introducediin this area.

Though it began in the 1980s, it was only in the mid-nineties that internet banking really caught on. What attracts customers
to internet banking-is'the round the clock availability and ease of transactions. Studies estimate that internet banking still has
a long way to go. There are several banks that have customers who prefer banking in the traditional ways. Statistics released
by the Federal Deposit Insurance Corporation (FDIC) show that only 40% of the banks in the U.S. offer internet banking facilities
worth mentioning. All the others may have an online presence but do not have enough online transactions to justify their
presence on the internet. {prepared by iranarze.ir}

Some customers have been known to turn to internet banking due to dissatisfaction with standard procedures and practices.
The total absence of human interaction appeals to some people. Some customers turn to internet banking facilities for security

reasons.

iranarze.ir 1P Y (55500 38 SU (ol irdiu! (590 3T WY1 gu



46- The word "inception" in paragraph 1 is similar in meaning to ................. (iranarze.ir)

1) establishment 2) employment 3) improvement 4) investment
47- The word "it" in paragraph 3 refers to ................. (iranarze.ir)
1) area 2) a profuse growth 3) internet banking 4) legislation

48- What do statistics released by FDIC show? {iranarze.ir)

1) The last decade has seen a profuse growth in internet banking transactions.

2) Only 40% of bank customers in the U.S. prefer internet banking.

3) It was only in the mid-nineties that internet banking really caught on.

4) Only 40% of the banks in the U.S. offer internet banking facilities worth mentioning.
49- According to the passage, which of the following statements is true? (iranarze.ir}
1) Some customers use internet banking facilities for security reasons.

2)Traditional banks pay less interest than internet banks on customers' deposi

3) The 1980s witnessed an abundant growth in internet banking.

4) The round the clock availability is one of the advantages of legislation.

50- Where does the following sentence best fit into the passage? (irar)

This is mainly because of customers being assured of banks' ability to ke€p transa s safe and secured.

1)End of paragraph 1 2) End of parag

3) End of paragraph 3
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Part A; Grammar & Vocabulary ¢ complie cack el
Directions: Choose the word or phrase (1), (2), (3), or (4) that bes P .
Then mark the correct choice on your answer sheet.

76) It is vital ......... a health check before using the gym for the first time.
1) having 2) to have
3) for having 4) to havn'ng
77) The Spanish teacher ......... is near mine helps me with my homey
2) his house

1) that his house

3) whose house 4) who his house

78) If you worked from home, you ......... need to act formaz
1) won’t 2) wouldn?

3)didn’t 4) don’t

79) “Anita isn’t happy with the salary she’s getting.”

“So she ......... the job.”

1) mustn’t accept 2) 3‘
3) shouldn’t accept 4) shoul

80) An electrical fault ......... to have caused the/power cut 2

solved.

1) is believed = —— belicye
3) has believed Ms_ mou \-'J eve ? 2
81) Mary wasn tsucces fu! n gettmgt ‘é‘jg ......... she had 3 theQ,p' essary qualifications.
1) nevertheless ;‘2) desplte N\
3) even though 4) otherWISe 2
82) Peter asked er how on ...... as wbankﬁclé? hen'he was younger -
1) had he work ) he had' orked {
3) did he work?y 4) he dld ork ]
83) Fortunately, €arlos ogod memory and is. able it facts easily.
1) regulate | 2),;r651st
3) retain 4) reform
84) I haveahard\time baby boy. He'gets ......... when woken up at night.
1) tolerable 2) irritable
3) émtarkab \> 4) dependable
85) The néw train station is unde TR and will be completed soon.
I ons%ptio \r?. 2) anticipation
3\ ct:n 4) devastation
86) T' her asked his property be divided ......... between his sons.
1) arrogantl; 2) equally
3) recently 4) obviously
87) These are &’la oratory chemicals that can cause death if inhaled.
;) hazardous 2) meticulous
) gracious | 4) nutritious

. for women, so men are not allowed to enter here.

2) exclusively

. 4) subsequently

MEY-e.ehoe.. @ young woman selling beautiful flawers.
2) enhanced

88) This room is
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2) experiment
4) advertisement

Part B: Readi
Reading Comprehension

Directions: ey i
rs each question, Th‘c‘;:"g two passages and select the ehoice
mark your answer on your answer sheet.

Passage 1

The most , i
Russia, Ca‘l’l:?i:lz:!: t;:’ountx:y in the world is China. It is the\fou
one-fourteenth the lan : U.mted States being liu'gcr. It is 3,6 ™! i
40 somils. area of Earth gtretching over 3,0 @
I(a(z::ll:; borders many countries. It borders to the'1I¢ @ i
ytan; the west with Kyrgyzstan and othexsj th

squth with Myanmar, Laos, Vietnam, and others; an )
North and South Korea, and Japan TN (e
deserts, and dense forests. '

Its official name is 17 s Repuabhic e China and
Wennﬁsa ) : ] gates. The ca[ﬁfa
is the economic, CUlLELA Lunidations centc 0
cgntefafindustry, ng inencoIt oi and por i

W is home to" Hi< ] > 1

(?9 . The Yangt
in the™ @‘d, Mount Everest,
4

v

ing statements i

1) / B, : of th&f\o ow
1 of cast t0 We a8 well as north to south.
) : j vers in th fﬁl
3) ¢h the landar of Earth.
4) Tt'¥s 3¢ 3 states lik United States.
92) Wh = ainly about?
1) China’s sighBoring co i 2) China’s history
3) China’s attractions 4) China’s economy
93) According 0 the ge, China’s terrain includes ......- o
1) mountains, high pl , sandy deserts, and dense forests
2) mountains, high P caus, sandy deserts, and long rivers
; [ateaus, sandy deserts, dense forests, and violent volcanoes

lcanoes, rain forests and hi

M 1S gh plateaus

).tl.:'gll‘,-.!!f the following as the attractions of China EXCEPT
4

- i; ll:-teld panda
rios h e Giant Pan
ies have been mentioned in the pa(laslage EX
2) Kyrgyzstan CEPT .........
4) Cambodia



[

Passage 2 e

The main purpose that banks have been serving since their inception is keeping our money
safe for us. While keeping our money safe, they also let us earn a certain amount of interest on
the money deposited with them. Traditional banks have been doing this, and internet banks
continue the same function. The only difference is in the way the transactions are made.
Online banking has been around for quite a few years. In fact, it was introduced in the
1980s and has come a long way since then. The last decade has seéa}\{)rofuse growth in
internet banking transactions. Several pieces of legislation have also'bee "n%.uced in this

area.
Though it began in the 1980s, it was only in the mid-nineties that i a\tgi)ng really
aflability and
to go, There

caught on. What attracts customers to internet banking is
11
are several banks that have customers who prefer banking i f i ays. Statistics
released by the Federal Deposit Insurance Corporation s@w\ﬂ;at) onl} 0'{, of the
ionin 1l the ot é: z}y have

an online presence but do not have enough online transacti usti
internet. \?{?

ernet banking\due {to
standard procedures and practices. The total absence of huntan inte a:ﬁ) ap c'?i}s to some
people. Some customers turn to internet bankinsga aci%itics for : se% sons.

e

round th
ease of transactions. Studies estimate that internet banl i :
banks in the U.S. offer internet banking facilities worth g
j their (presenee on'the
5‘7 :
Some customers have been known to turn t d tlsfacﬁor; with
aragraph 1 is simllaninlnygzi\x'n_gasfo ‘%‘

96) The word “inception” ins

1) establishment 2) emplf)ymen;’t% v
3) improvement #)investment \\ A
97) The word “it” i’ ?I;agraph 3 refer§ to ...y ] \\

1) area 1// BT N )4 profuse growthy

3) intemet banking *‘ﬁ [ 4 0NN\ Y Aegistationr

98) What do stafisticsreleased by FDIC show?
1) The last degade hassten a profuse growth {nfinternet banking transactions.
2) Only 40% of bank customersiin.the U.S. prefer internet banking.
3) It was only ig'the midenineties that internet banking rcally caught on.
4) Only 40% ofthe banks in the U.S/ offer internet banking facilities worth mentioning.
99) According to the passage, witieh of the following statements is true?
1) Some/€ustomers use internet banKingacilities for security reasons.
2) Traditional banks pay less’inferest than infernet banks on customers’ deposits.
3) The/1980s witnessed an aBundant growth in internet banking.
4) The round the clockayailability iscone of the advantages of legislation.
100) Where'does the following senténce best fit into the passage?
This-is mainly/because of dustomers being assured of banks? ability to keep transactions
safe and-scedred.
1) End of paragraph 1 2) End of paragraph 2
3) End of paragraph 3 9% 4) End of paragraph 4
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